Module 4 - Quadratic Equations Progress Exam 1
16. Write the equation of the graph presented below in the form f(z) = az® + bz + c,

assuming a = 1 or a = —1. Then, choose the intervals that a, b, and ¢ belong to.
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17. Graph the equation f(z) = 3 —(z+4)* —12. £(X)" q (x- h) + K—) n y
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18. Factor the quadratic below. Then, choose the intervals that contain the constants in
the form (az + b)(cz + d);b < d. Q)Hx - (gx)

q=3"
642? + 48z + 9 DES 2(8x)3>= Y82
o= 8 b= 3 = 8 i—13 (16x)(3Y = Ygv
A. a€05,1.5, bel[2,5, cel63.5645], and de[l1.5,3.5] YESI
B. a€[0.5,15], be[-35—-15], ccl[635645), and de[-45,-25 4+ 2ab+h
C. aE[155 17], bel2,5], ce[3,45], and de[1.5,3.5] = (a+b)"
7,9
[

@acr be[2,5, cel[r,8.5), and de[L5, 3.5 G x*+Yygx+q

S
E. a€[3 45] be[25], ce[1517, and de[1.5,35 =(BX)T+2(8)(3) +3

= (8x+3D)°
= (8x+3)(Bx+3)

19. Solve the quadratic equation below. Then, choose the intervals that the solutions 1
and 9 belong to, with z; < 2. &q ‘b ‘-(CH"))(CI‘b)
1442* — 16 =0 2
199%°- 16 =0
T = -0-3 Ty = Q.3 (|2X)2 - ‘17. =
—0.2, —0.05] and z5 € [0.99,1.09] 1“2’“ Yy(zx-4y=0
i

—0.07,0] and w € [3.83,4.02] f —~
I2x+49=0 Ix-Y=0

I2x ==Y I2x = Y

. X1 €

. T €

A [

B [

C. x; € [-0.8,—0.65] and x5 € [0.06,0.3]

D [

@ T €]

20. Solve the quadratic equation below. Then, choose the intervals %at the solutlor?s
belong to, with z; < x5 (if they exist).

. x1 € [—4.13,-3.98] and x5 € [—0.07,0.05] x=-4 X= L‘_
—0.52, —0.15] and x5 € [0.28, 0.41] 2 |12
A — A==

T2+ T +7=0
QUADRATIC FORMULA:

_ 0.3 _lel8
. " -F £ {342
A. 2 € [=3.6,—1.5] and x5 € [0.5,0.7] T
(B) x1 € [~1.6,0.1] and =, € [1.5,2.5]

%= 73 L [4q 4190

-
€[
-
-

C. z; € [-11.4,-8.8] and x5 € [3.7,4.7]
D. z; € [-5.3,—4.1] and x5 € [11.3,11.9] -4
E. There are no Real solutions. X=-31 d 248 - 3t \] 99-5
el B | —14
x=iEAs .34 A5 ), 5
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